	(Approving the Agreement Regarding Semi-Annual Assessments and
1	Well Lease and Pumping Right Payments with the
2	Central Arizona Irrigation and Drainage District)
3	RESOLUTION NO. <u>93-393</u>
4	WHEREAS, in March of 1991 the Tohono O'Odham Farm Board entered
5	into an Agreement for Water Project Services with the Central
6	Arizona Irrigation and Drainage District ("CAIDD") to provide
7	
8	deliveries of Central Arizona Project water to the San Lucy
9	Farm; and
10	WHEREAS, the Agreement for Water Project Service provides that the
11 12	landowner will pay taxes and assessments levied by Pinal County
13	on behalf of the CAIDD and charges for acre-feet of water
14	
15	delivered, and that the landowner will further allow CAIDD to
16	use landowner's irrigation grandfathered water rights and to
17	lease to the CAIDD irrigation wells on the Farm, and that
18	
19	CAIDD will pay to landowner a specific dispersion
2 0	lease; and
21	WHEREAS, the taxes levied by Pinal County include the costs to repay bonds
2 2	issued to fund construction of the project and to repay the
23	$\mathbf{P}_{\mathbf{i}}$
2 4	· ·
2	the costs of acquiring landowner wassers
20	and
2	7
_	

RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

1 2	RESOLUTION NO. <u>93-393</u> (Approving the Agreement Regarding Semi-Annual Assessments and Well Lease and Pumping Right Payments with the Central Arizona Irrigation and Drainage District) Page 2 of 5	
3		
4	WHEREAS, until 1993 CAIDD only made well lease payments to landowners	
5	after Pinal County collected the taxes using the money collected	
6	as taxes to make the well lease payments; and	
7		
8	WHEREAS, CAIDD has proposed an Agreement Regarding Semi-Annual	
9	Assessments and Well Lease and Pumping Right Payments	
10	("Well Lease Agreement"), attached as an exhibit hereto, that	
11	would allow the CAIDD to collect, and a landowner to pay, only	
12 13		
13 14	the difference between the taxes owed by a landowner and the	ı
15	amount CAIDD is obligated to pay the landowner as a well lease	
1 6	payment; and	
17	WHEREAS, the Nation disputes that it is obligated to pay CAIDD's charges	
18		1
19		
20	Farm Board has paid charges levied by the CAIDD in the past	
21	under protest in order that water service to the San Lucy Farm	1
2 2	not be discontinued; and	
23	91)	1
24		
25	Board to on-set amounts returned by crea-	e
26	novments against amounts levied by CAIDD as bi-annua	l
2 ²	Wall I ease	
4	assessments, and the country	

RESOLUTION NO. 93-393 (Approving the Agreement Regarding Semi-Annual Assessments and Well Lease and Pumping Right Payments with the **Central Arizona Irrigation and Drainage District)**

Agreement believes that execution of the Well Lease Agreement will be beneficial to the Farm Board and the Nation; and WHEREAS, the Council does not intend, by entering into the Well Lease Agreement proposed by CAIDD, to acknowledge the validity of the Agreement for Water Project Service, to acknowledge the right of Pinal County or the CAIDD to impose charges, taxes or assessments on the San Lucy Farm, the Nation, or the Farm Board, or to concede or compromise any other claim the Nation

NOW, THEREFORE, BE IT RESOLVED that the Tohono O'Odham Legislative Council does hereby approve the Agreement Regarding Semi-Annual Assessments and Well Lease and Pumping Rights Payments, and authorizes and directs the Chairman of the Nation to execute the Agreement in the form attached hereto, subject to any modifications recommended by the Attorney General as are necessary to protect the rights of the

The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the 29TH. day of OCTOBER, 1993 at a meeting at which a quorum was present with a vote of 1,551.5 FOR; -0- AGAINST; 75.5 NOT VOTING; and 136.0 [08] ABSENT, pursuant to the powers vested in the

28

	RESOLUTION NO. 93-393 (Approxing the Agreement Regarding Semi Appual Assessments
1	(Approving the Agreement Regarding Semi-Annual Assessments and Well Lease and Pumping Right Payments with the
1	Central Arizona Irrigation and Drainage District)
2	Page 4 of 5
3	
4	Council by Section 1(f) & (i) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18,
5	1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs
6	(Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18,
7	1934 (48 Stat. 984).
8	COIDIGH
9	TOHONO O'ODHAM LEGISLATIVE COUNCIL
10	C1025
11	Alex J. Ramon, Legislative Chairman
12	
13	ay of Odeber, 1993
14	
15	ATTEST:
16	Anninda allan des
17	Teresa M. Choyguha, Legislative Secretary
18	A ka
19	29th day of
20	Said Resolution was submitted for approval to the office of the Chairman of
21	the Tohono O'Odham Nation on the and day of the Tohono O'Clock,
22	A which VII of the Constitution and will become effective upon his approval of
2 3	upon his failure to either approve or disapprove it within 48 nours of
24	submittal.
25	TOHONO O'ODHAM LEGISLATIVE COUNCIL
26	
27	Sleep taus
	Alex J. Ramon, Legislative Chairman
28	·II

	RESOLUTION NO. <u>93-393</u>
	(Approving the Agreement Regarding Semi-Annual Assessments and Well Lease and Pumping Right Payments with the
1 2	Central Arizona Irrigation and Drainage District) Page 5 of 5
j	rage 5 of 5
3 4	APPROVED on the 20 day of aleten, 1993
5	
6	[] DISAPPROVED) at \(\frac{2}{2} \frac{2}{5} \text{o'clock, } \(\frac{2}{5} \cdot \text{.M.} \)
7	
8	SYLVESTER LISTO, Chairman
9	TOHONO O'ODHAM NATION
10	
11	1st n
12	Returned to the Legislative Secretary on the 1st day of November
13	19 93 , at 9:01 o'clock, 9.M.
14	
15	Munda allen Jos:
16	Teresa M. Choyguha, Legislative Secretary
17	
18	
19	
20	
21	
2 2	
2 3	
24	
2 5	
2 6	<u> </u>
27	
28	

THEAT

ACTION: APPROVING THE AGREEMENT REGARDING SEMI-ANNUAL ASSESSMENTS AND WELL LEASE AND

PUMPING RIGHT PAYMENTS WITH THE CENTRAL ARIZONA IRRIGATION AND DRAINAGE DISTRICT

MOVED: COUNCILMAN ALBERT MANUEL, JR.

SECOND: COUNCILMAN MICHAEL FLORES

DATE: OCTOBER 29, 1993

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 151.0	WILLARD JUAN, SR. (Delbert Thomas) MARY ANN ANTONE	75.5	x			
	(Nellie Miguel)	75.5			х	,
SELLS 290.0	1. ANDREW M. PATRICIO (Lucille Encinas) 2. JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.)	145.0 145.0	x x			x
SCHUK TOAK	1. FRANCES FRANCISCO	56.5	x			x
113.0	() 2. KENNETH J. ANTONE ()	56.5	x			
SAN XAVIER	1. EUGENE ENIS, SR.	67.5	X			х
135.0	() 2. DENNIS RAMON ()	67.5	x			
BABOQUIVARI	1. FRANCES MIGUEL	115.0	х			
230.0	() 2. EARL A. FRANCISCO (Lucilda Norris)	115.0	x			x
GU ACHI	1. WILLARD ANITA	90.0	X			
180.0	2. ALEX J. RAMON (Marian Johnson)	90.0	x			
PISINEMO 128.0	CHESTER ANTONE (Fernando Valentine)	64.0	x			
128.0	2. JOHNSON M. JOSE (Roseleen Antone)	64.0	x			
SAN LUCY	1. JOHN RENO	49.0	X		t.	x
98.0	2. ALBERT MANUEL, JR. (Ernestine Marquez)	49.0	х			
GU VO	1. EMILIO LEWIS ()	62.0	x			
124.0	2. MICHAEL FLORES (Fern Salcido)	62.0	x			
HICKIWAN	1. MANUEL OSEQUEDA, JR.	68.0				x
136.0	2. LLOYD FRANCISCO (Henry A. Ramon)	68.0		:		х
CHUKUT KUK 178.0	1. ALBERTA M. LOPEZ (Berdella Jose)	89.0	x			х
1/8.0	2. KENNETH WILLIAMS ()	89.0	X			
	TOTAL	1,763.0	1,551.5	-0-	75.5	136.0 [08]